
8096 8096.5 8097 8097.5 8098
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

7138

7138.5

7139

7139.5

7140

7140.5

7141

7141.5

7142

ru
n

run:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7140}



8096 8096.5 8097 8097.5 8098
cyclenum

107.5−

107−

106.5−

106−

105.5−

us
l_

1X

usl_1X:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

us
l_

4a
Y

usl_4aY:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

46.5

47

47.5

48

48.5

us
l_

4e
X

usl_4eX:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

20

20.5

21

21.5

22

us
l_

4e
Y

usl_4eY:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

39−

38.5−

38−

37.5−

37−

us
l_

12
X

usl_12X:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

7138

7138.5

7139

7139.5

7140

7140.5

7141

7141.5

7142

ru
n

run:cyclenum {run == 7140}



8096 8096.5 8097 8097.5 8098
cyclenum

144−

143.5−

143−

142.5−

142−us
r_

1X

usr_1X:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

204.5

205

205.5

206

206.5

us
r_

4e
X

usr_4eX:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

13

13.5

14

14.5

15

us
r_

4e
Y

usr_4eY:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

39.4−

39.2−

39−

38.8−

38.6−

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

us
r_

12
X

usr_12X:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

7138

7138.5

7139

7139.5

7140

7140.5

7141

7141.5

7142

ru
n

run:cyclenum {run == 7140}



8096 8096.5 8097 8097.5 8098
cyclenum

32546

32546.5

32547

32547.5

32548

us
l_

co
il1

usl_coil1:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

6564

6564.5

6565

6565.5

6566

us
l_

co
il3

usl_coil3:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

4227.2

4227.4

4227.6

4227.8

4228

4228.2

4228.4

4228.6

4228.8

4229

4229.2

4229.4

us
l_

co
il4

usl_coil4:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

797−

796.5−

796−

795.5−

795−

us
l_

co
il6

usl_coil6:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

14892.5

14893

14893.5

14894

14894.5

us
l_

co
il7

usl_coil7:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

7138

7138.5

7139

7139.5

7140

7140.5

7141

7141.5

7142

ru
n

run:cyclenum {run == 7140}



8096 8096.5 8097 8097.5 8098
cyclenum

28027.5−

28027−

28026.5−

28026−

28025.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

5527.5−

5527−

5526.5−

5526−

5525.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

3144.2

3144.4

3144.6

3144.8

3145

3145.2

3145.4

3145.6

3145.8

3146

3146.2

3146.4

us
r_

co
il4

usr_coil4:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

580−

579.5−

579−

578.5−

578−

us
r_

co
il6

usr_coil6:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

18180

18180.5

18181

18181.5

18182

us
r_

co
il7

usr_coil7:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

7138

7138.5

7139

7139.5

7140

7140.5

7141

7141.5

7142

ru
n

run:cyclenum {run == 7140}



8096 8096.5 8097 8097.5 8098
cyclenum

436.4−

436.2−

436−

435.8−

435.6−

435.4−

435.2−

435−

434.8−

434.6−

434.4−

434.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

72.5−

72−

71.5−

71−

70.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

26

26.5

27

27.5

28

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

484.8−

484.6−

484.4−

484.2−

484−

483.8−

483.6−

483.4−

483.2−

483−

482.8−

482.6−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

94−

93.5−

93−

92.5−

92−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

25

25.5

26

26.5

27

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7140}



8096 8096.5 8097 8097.5 8098
cyclenum

166

166.2

166.4

166.6

166.8

167

167.2

167.4

167.6

167.8

168

168.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

49.6

49.8

50

50.2

50.4

50.6

50.8

51

51.2

51.4

51.6

51.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

11.8−

11.6−

11.4−

11.2−

11−

10.8−

10.6−

10.4−

10.2−

10−

9.8−

9.6−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

176.6

176.8

177

177.2

177.4

177.6

177.8

178

178.2

178.4

178.6

178.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

16−

15.5−

15−

14.5−

14−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

11−

10.5−

10−

9.5−

9−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7140}



8096 8096.5 8097 8097.5 8098
cyclenum

238−

237.5−

237−

236.5−

236−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

87−

86.5−

86−

85.5−

85−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

4

4.5

5

5.5

6

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

10

10.2

10.4

10.6

10.8

11

11.2

11.4

11.6

11.8

12

12.2

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

442.5−

442−

441.5−

441−

440.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7140}

8096 8096.5 8097 8097.5 8098
cyclenum

7138

7138.5

7139

7139.5

7140

7140.5

7141

7141.5

7142

ru
n

run:cyclenum {run == 7140}
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